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The diagram shows part of the curve y= X for O < x< p, where pis a constant.
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The area A of the region enclosed by the curve, the x-axis and the line x= pis given
approximately by the sum S of the areas of nrectangles, each of width A, where Ais small
and nh = p. The first three such rectangles are shown in the diagram.

(@) Find an expression for Sin terms of nand A.

"
(b) Zr2 = %n(n +1)(2n+1)
Use the identity =1 to show that

(c) Show how to use this result to find Ain terms of p.

END OF QUESTION paper
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